Consider the merger of two gasoline marketers that have the only terminals in Mobile, Alabama.  (In this case, terminals are storage valves tapping into the product pipeline from Texas to the east coast along with storage facilities and "racks" for loading tanker trucks for local delivery.)  Other terminals are about fifty miles away and it costs about one cent per gallon to ship gasoline to Mobile.  Gasoline wholesales out of the terminals for about eighty cents.  Terminalling services are not separately sold by only available from vertically integrated suppliers included in the wholesaled gas.  Estimates are that the cost of the terminalling services are about 4 cents per gallon.

     How would you apply the five percent rule to this case?  Would it make any difference if the terminalling were separately sold?

